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f, =2x— (3
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S (xy)=4X+y> My, f, (L1) yawn (16
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f, =—4xy f, =—4xy f,, =—2x°
X4
f, == f,=12x"Iny f =4xIny (2
y
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y y y
f, =3y” —6x f, =6x f =3x*-6y (3
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f, =x*—2xy f =2y f.=2xy-y*> (5
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f, =2[8x-1-6y—-0+57+0]

f, :ex"(x2 +xy+1) f :exy(xy+ y? +l) (7
fo =% y(xy+y*+1)+(y+0+0)-e”
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Xy
f,=e (4y-2x"y-4y°) fo=e (2x-2x"-4xy*) (9

y

2
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vy
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max(0,£1)  min(+1,0) (2

max (2,3) min(-2,-3) (3
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4x+8y =20 (17 2Xx+3y =8 (16
3x+6y=15 5x—4y=-3
X% = 3% =5 8x — 4y =10
3x, —2X, + 2%, =5 (19 6x+)?i_—1 (18
10x, —6X, — 2%, =32 =
X+2y+3z=3 X+2y+3z=-11
4x+6y+16z=8 (21 2x+3y—z=-5 (20
3X+2y+17z=1 X+y—-z=2
4x-7y=0 X+3y=2
8x—14y =2 (23 2x+y=-1(22
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2X, +2X, +3%X; —4x, =0
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iz, +2,+(1+i)z, =2+1i
(-1+3i)z, +(3—-1)z, +(2+4i)z; =51
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2X—y+z=0 X+2ky+z=0
X+2y-z=0 (4 3x+y+kz=2 (3
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4x+(k*=5K)y+2z =k
( )Y 6x+3ky =7k +2
3X+4y—z2=2
kx—2y+z=-1
X+8y—-3z=k
2X+6y—2z2=0.5k+1

(9

: TOIWNY ¥ (NHND W DN) b DY) a HY DIV IDINY INND 12-10 MDNVA
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